Multivariate Probability Distributions
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Answer:

First Step
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( How do you setup the bounds on the integrals?  Also which integral corresponds to
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?  Why is it from ½ to ¼ and 
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 to ¼ ?  Why can’t it be:  
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?  As you can tell, im confused!
2nd Step
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What exactly is going on here??  Integrating with respect to
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?  If so you leave 3y1 alone?  Why intergrate with respect to 
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3rd Step
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ok I understand how we got from 2nd to 3rd, its substitution

Then carrying out normal integration you will end up with 5/128

Do all questions with these type of constraints 
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 work the same way??
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